pcs_reset = ON

v

DISABLE_TRANSMITTER

TX_AGGREGATE

—v v l+—

SEND_IDLES

tx_coded <=

*
TX_AGGREGATE ENCODE(IBLOCK_T)

ltx_data_mode

I

TX_AGGREGATE *
tx_data_mode *

TX_AGGREGATE * X
- ltx_raw_mid_frame

tx_data_mode *
tx_raw_mid_frame

SEND_ERROR

tx_coded <=
ENCODE(EBLOCK_T)

TX_AGGREGATE *

ltx_data_mode TX_AGGREGATE *
tx_data_mode TX_AGGREGATE *

ltx_data_mode

_¢lv v

SEND_DATA

TX_AGGREGATE *
tx_data_mode *
Itx_Ipi_active

tx_coded <=
ENCODE(tx_raw<99:0>)

TX_AGGREGATE *
tx_data_mode *
tx_lpi_active

B4

SEND_LPI

tx_coded <=

ENCODE(LPBLOCK_T) It dat d
ltx_data_mode

|
TX_AGGREGATE *
tx_data_mode * TX_AGGREGATE *
tx_lpi_active tx_data_mode *
Itx_Ipi_active

SEND_WAKE

tx_coded <=

TX_AGGREGATE *
- ENCODE(IBLOCK_T)

tx_wake_frame_complete Itx_data_mode

NOTE—Transitions inside dashed boxes are only
required for the EEE capability
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Add the following constant definition to 97.3.6.2.1:
EBLOCK_T<99:0>
TYPE: bit vector
100-bit vector to be sent to the encoder containing error propagation characters in all 10 locations.

Add the following variable definition to 97.3.6.2.2:
tx_raw_mid_frame
Boolean variable that is TRUE if tx_raw[0] is 1 and tx_raw([1] is 0 and FALSE otherwise



